
6⇥ 13

<latexit sha1_base64="b1Zthrpl8w3sksiYkzpG84QU9Fs=">AAAB8nicbVBNS8NAEJ3Ur1q/qh69LBbBU0m0WI9FLx4rWFtIQ9lsN+3STTbsToRS+jO8eFDEq7/Gm//GbZuDtj4YeLw3w8y8MJXCoOt+O4W19Y3NreJ2aWd3b/+gfHj0aFSmGW8xJZXuhNRwKRLeQoGSd1LNaRxK3g5HtzO//cS1ESp5wHHKg5gOEhEJRtFK/hXpooi5Id5lr1xxq+4cZJV4OalAjmav/NXtK5bFPEEmqTG+56YYTKhGwSSflrqZ4SllIzrgvqUJtXuCyfzkKTmzSp9ESttKkMzV3xMTGhszjkPbGVMcmmVvJv7n+RlG18FEJGmGPGGLRVEmCSoy+5/0heYM5dgSyrSwtxI2pJoytCmVbAje8sur5PGi6tWq9ftapXGTx1GEEziFc/CgDg24gya0gIGCZ3iFNwedF+fd+Vi0Fpx85hj+wPn8AcfOkEo=</latexit>

2⇥ 3

<latexit sha1_base64="eAAJkkxV1KgbKw6pIqUG2ErsdEI=">AAAB8XicbVDLSgNBEOyNrxhfUY9eBoPgKezGQMRTwIvHCOaByRJmJ7PJkNnZZaZXCCF/4cWDIl79G2/+jZNkD5pY0FBUddPdFSRSGHTdbye3sbm1vZPfLeztHxweFY9PWiZONeNNFstYdwJquBSKN1Gg5J1EcxoFkreD8e3cbz9xbUSsHnCScD+iQyVCwSha6bFCeigibshVv1hyy+4CZJ14GSlBhka/+NUbxCyNuEImqTFdz03Qn1KNgkk+K/RSwxPKxnTIu5Yqatf408XFM3JhlQEJY21LIVmovyemNDJmEgW2M6I4MqveXPzP66YYXvtToZIUuWLLRWEqCcZk/j4ZCM0ZyokllGlhbyVsRDVlaEMq2BC81ZfXSatS9qrl2n21VL/J4sjDGZzDJXhQgzrcQQOawEDBM7zCm2OcF+fd+Vi25pxs5hT+wPn8AUzTkAM=</latexit>

4⇥ 5

<latexit sha1_base64="tlRvWeLKJS2Ew+gMUrHg+nqvE7Q=">AAAB8XicbVBNS8NAEJ34WetX1aOXxSJ4KolUKp4KXjxWsB/YhrLZbtqlm03YnQgl9F948aCIV/+NN/+N2zYHbX0w8Hhvhpl5QSKFQdf9dtbWNza3tgs7xd29/YPD0tFxy8SpZrzJYhnrTkANl0LxJgqUvJNoTqNA8nYwvp357SeujYjVA04S7kd0qEQoGEUrPVZJD0XEDbnql8puxZ2DrBIvJ2XI0eiXvnqDmKURV8gkNabruQn6GdUomOTTYi81PKFsTIe8a6mido2fzS+eknOrDEgYa1sKyVz9PZHRyJhJFNjOiOLILHsz8T+vm2J47WdCJSlyxRaLwlQSjMnsfTIQmjOUE0so08LeStiIasrQhlS0IXjLL6+S1mXFq1Zq99Vy/SaPowCncAYX4EEN6nAHDWgCAwXP8ApvjnFenHfnY9G65uQzJ/AHzucPUvWQBw==</latexit>

We need 800 of 4⇥ 5 pieces and 400 of the 2⇥ 3 pieces. What is the least
number of 6⇥ 13 worksheets that we have to order?

<latexit sha1_base64="+8vMO3T14xW7lLlaGsB1ITqdddA="></latexit>


